
Recap_II Assessment



Sample questions

1. In the payback method, depreciation is added back to net operating income when computing the annual net cash flow.
T F

2. The basic idea underlying responsibility accounting is that a manager should be held responsible for those items—and only those
items—that the manager can actually control to a significant extent.

T F

3. Lusk Corporation produces and sells 14,000 units of Product X each month. The selling price of Product X is $22 per unit, and variable
expenses are $16 per unit. A study has been made concerning whether Product X should be discontinued. The study shows that $73,000 of 
the $103,000 in monthly fixed expenses charged to Product X would not be avoidable even if the product was discontinued. If Product X is
discontinued, the annual financial advantage (disadvantage) for the company of eliminating this product should be: 
a) ($54,000)
b) $19,000
c) $49,000
d) ($49,000)
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BUDGET

Required:

1. Calculate the estimated sales for each quarter of the fiscal year and of the year as a whole.

2. Calculate the expected cash collections for each quarter of the fiscal year and of the year as a whole.

3. Calculate the required production in units of finished goods for each quarter of the fiscal year and of the 

year as a whole.



1.
Jessi Corporation

Sales Budget

1st Quarter 2nd Quarter 3rd Quarter 4th Quarter Year

Budgeted unit sales

Selling price per unit

Total sales

2.

Schedule of Expected Cash Collections

Beginning accounts receivable

1st Quarter sales (65%, 30%)

2nd Quarter sales (65%, 30%)

3rd Quarter sales (65%, 30%)

4th Quarter sales (65%)

Total cash collections



3.

Jessi Corporation
Production Budget

1st Quarter 2nd Quarter 3rd Quarter 4th Quarter Year

Budgeted unit sales

Add desired units of ending finished goods 
inventory*

Total needs

Less units of beginning finished goods 
inventory**

Required production in units



1.
Jessi Corporation

Sales Budget

1st Quarter 2nd Quarter 3rd Quarter 4th Quarter Year

Budgeted unit sales 11,000 12,000 14,000 13,000 50,000

Selling price per unit × $18.00 × $18.00 × $18.00 × $18.00 × $18.00

Total sales $198,000 $216,000 $252,000 $234,000 $900,000

2.

Schedule of Expected Cash Collections

Beginning accounts receivable $ 70,200 $ 70,200

1st Quarter sales (65%, 30%) 128,700 $ 59,400 188,100

2nd Quarter sales (65%, 30%) 140,400 $ 64,800 205,200

3rd Quarter sales (65%, 30%) 163,800 $ 75,600 239,400

4th Quarter sales (65%) 152,100 152,100

Total cash collections $198,900 $199,800 $228,600 $227,700 $855,000



3.

Jessi Corporation
Production Budget

1st Quarter 2nd Quarter 3rd Quarter 4th Quarter Year

Budgeted unit sales 11,000 12,000 14,000 13,000 50,000

Add desired units of ending finished 
goods inventory* 1,800 2,100 1,950 1,850 1,850

Total needs 12,800 14,100 15,950 14,850 51,850

Less units of beginning finished goods 
inventory** 1,650 1,800 2,100 1,950 1,650

Required production in units 11,150 12,300 13,850 12,900 50,200

* For end of first quarter: 12,000 units × 15% = 1,800 units.

** For beginning of first quarter: 11,000 units × 15% = 1,650 units.



CAPITAL BUDGETING



Now Years

1-5

Purchase of equipment $(3,000,000)

Sales $ 2,500,000

Variable expenses (1,000,000)

Out-of-pocket costs __________ (600,000)

Total cash flows (a) $(3,000,000) $ 900,000

Discount factor (15%) (b) 1.000 3.352

Present value (a)×(b) $(3,000,000) $3,016,800

Net present value $16,800

1. The net present value is computed as follows:

2. The simple rate of return would be:

Annual incremental net incomeSimple rate  = 
of return Initial investment

$300,000
=  = 10.0%

$3,000,000

3. The company would want Derrick to pursue the investment opportunity because it has a positive net present value of 

$16,800. However, Derrick might be inclined to reject the opportunity because its simple rate of return of 10% is well below his

historical return on investment (ROI) of 20%. Derrick may be justifiably concerned that implementing this project would lower

his ROI and his next pay raise.



FINANCIAL STATEMENT 
ANALYSIS

Compute:

Working capital; Current ratio; Acid-test ratio; Debt-to-equity ratio; Return on total 

assets; Return on Equity; Book value per share.

Last year total assets: 280,000

Last year stockholders’ equity: 161,600 

Account balances at the

beginning of the year

were: accounts

receivable, $25,000; and

inventory, $60,000. All

sales were on account.



Current assets $115,000 
Current liabilities 50,000
Working capital $65,000

Current assets $115,000
 =  = 2.3

Current liabilities $50,000

Cash + Marketable securities  
+ Accounts receivable + Short-term notes receivable

Acid-test ratio = 
Current liabilities

$6,500 + $0 + $35,000 + 0
=  = 0.83 

$50,000

Calculation of working capital:

Current ratio:

Acid-test ratio:



Total liabilities $130,000
 =  = 0.76 (rounded)

Total stockholders' equity $170,000

( )

( )

( )

Net Income + Interest expense × 1 - Tax rate Return on  = 
total assets Average total assets

$21,000 + $8,000 × 1 - 0.30
= 

$280,000 + $300,000 / 2

$26,600
 =  = 9.2% (rounded)

$290,000
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( )

Net income
 = Return on equity

Average common stockholders' equity

$21,000
=  

$161,600 + $170,000 / 2

$21,000
=  = 12.7% (rounded)

$165,800

Return on equity:

Return on total assets:

Debt-to-equity ratio:

Book value per share:

Total stockholders' equity
Book value per share = 

Number of common shares outstanding

$170,000
=  = $28.33 per share (rounded) 

6,000 shares


